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To	
  determine	
  the	
  total	
  mass,	
  both	
  v1r	
  	
  and	
  v2r	
  need	
  
to	
  be	
  known.	
  	
  If	
  only	
  one	
  can	
  be	
  measured,	
  then	
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Eclipsing	
  Binaries	
  
	
  

What	
  is	
  the	
  minimal	
  i	
  for	
  eclipses	
  to	
  occur?	
  

	
  
i	
  has	
  to	
  be	
  close	
  to	
  90°.	
  	
  If	
  i	
  is	
  75°,	
  sin3i	
  =	
  0.90,	
  
only	
  10%	
  error	
  in	
  mass	
  determination.	
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  𝒗𝟐   (𝒕𝒄 −   𝒕𝒂)	
  
	
  
Light	
  curve	
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  P,	
  ta,	
  tb,	
  tc,…th	
  	
  
	
  
ml	
  /	
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Total	
  light	
  =	
  π	
  rs2	
  σ	
  Ts4	
  	
  +	
  	
  π	
  rl2	
  σ	
  Tl4	
  
	
  

fp	
  /	
  fs	
  	
  =	
  	
  π	
  rs2	
  σ	
  Th4	
  /	
  	
  π	
  rs2	
  σ	
  Tc4	
  	
  =	
  	
  (Th	
  /	
  Tc)4	
  
	
  

But,	
  how	
  do	
  we	
  know	
  which	
  star	
  is	
  hotter?	
  
Assume	
  star	
  l	
  is	
  hotter,	
  	
  
	
  

	
  	
  	
  	
  	
  fs	
  	
  =	
  	
   𝝅  𝒓𝒔𝟐  𝝈  𝑻𝒄𝟒

𝝅  𝒓𝒔𝟐  𝝈  𝑻𝒄𝟒!  𝝅  𝒓𝒍
𝟐  𝝈𝑻𝒉

𝟒	
  	
  =	
  	
  
𝟏

𝟏!(𝒓𝒍  /𝒓𝒔)𝟐  (𝑻𝒉/𝑻𝒄)𝟒    
	
  

	
  

	
  	
  	
  	
  	
  Is	
  this	
  fs	
  	
  consistent	
  with	
  observation?	
  
	
  	
  	
  	
  	
  	
  If	
  yes,	
  then	
  star	
  l	
  is	
  hotter.	
  
	
   	
  



Search	
  for	
  Extrasolar	
  Planets	
  
	
  
This	
  is	
  a	
  topic	
  covered	
  in	
  Astr	
  405.	
  
	
  
A	
  planet	
  orbiting	
  around	
  a	
  star	
  is	
  just	
  like	
  a	
  
binary	
  system	
  with	
  a	
  large	
  primary	
  to	
  
secondary	
  mass	
  ratio.	
  
	
  
The	
  reflex	
  motion	
  of	
  the	
  star	
  is	
  small,	
  of	
  order	
  
of	
  m/s.	
  	
  Accurate	
  measurements	
  are	
  needed.	
  

	
  
	
  



	
  
	
  
Planet	
  transits	
  are	
  like	
  eclipses.	
  

	
  
	
  
	
  



Mercury	
  transiting	
  the	
  Sun	
  (2004)	
  

	
  
	
  


